ORDER #001506

Create Event Design 10621 Midway Ave. Cerritos, CA 90703 (562) 474-8222

SILVIA PRECIADO

PO:

Shipping Address:

Los Angeles - Equestrian Center: 480 Riverside Dr, Burbank, CA 91506 Order Date: August 31, 2021 Due Date: Upon Receipt

Install: ** Strike: **

Description Qtty Price Total General Table for Awards 1 \$175.00 Т \$175.00 Podium, Acrylic 1 \$150.00 Т \$150.00 1 **Decal for Podium** Т \$45.00 \$45.00 Black Turf, 150' x 300' 1 \$33,750.00 Т \$33,750.00 Т Banquet Table, 8'x18" 262 \$14.00 \$3,668.00 Spandex Linen, 8'x18' 262 \$35.00 Т \$9,170.00 Black 916 Т Chair, Style Pending \$8.00 \$7,328.00 Stanchion, Chrome 103 \$15.00 Т \$1,545.00 91 Т Velvet Rope \$12.00 \$1,092.00 Pipe and Drape, 150' x 12'h 1 \$1,800.00 Т \$1,800.00 **Behind Stage** 2 Т \$300.00 \$600.00 Sofa, 8ft 1 Coffee Table \$55.00 Т \$55.00 2 Lounge Chair, \$125.00 Т \$250.00 Lucite Bar, Curved 6ft 8 \$200.00 Т \$1,600.00 Red LED Lucite Shelf, White 6 \$175.00 Т \$1,050.00 **Driven Decal** 8 \$48.00 Т \$384.00 To go on Bars **Total General** \$62,662.00 **Green Room** Ava Sofa, 8ft 1 \$300.00 Т \$300.00

escription		Qtty	Price		Total
	Coffee Table	1	\$55.00	Т	\$55.00
	Ava Lounge Chair, Black	2	\$125.00	Т	\$250.00
	Banquet Table, 8ft	1	\$12.00	Т	\$12.00
	Linen, 8ft	1	\$27.50	Т	\$27.50
	Mirror, 5'x2' To hang over 8ft Table	1	\$125.00	Т	\$125.00
	Pipe and Drape, 80' - Red Velvet For Green Room - 20'x20'	1	\$960.00	Т	\$960.00
			Total Green Ro	om	\$1,729.50
V Room					
	Banquet Table, 8ft	3	\$12.00	Т	\$36.00
	Black Linen, 8ft Drape	3	\$30.00	Т	\$90.00
	Chiavari Chair ^{Black}	8	\$6.00	Т	\$48.00
	Chiavari Bar Stool - Black	2	\$14.50	Т	\$29.00
	Pipe and Drape, 80' For AV Room - 20'x20'	1	\$960.00	Т	\$960.00
			Total AV Ro	om	\$1,163.00
ront of House	•				
	Banquet Table, 8ft	2	\$12.00	Т	\$24.00
	Linen, Black - 8ft	2	\$30.00	Т	\$60.00
	Chiavari Chair ^{Black}	4	\$6.00	Т	\$24.00
			Total Front of Ho	use	\$108.00
ntrance/Chec	k-In				
	Red Turf, 180' x 8' Runner for Guest Entrance up to Main platform	1	\$1,080.00	Т	\$1,080.00
	Red Turf, 130' x 20' For Check In Area	1	\$1,950.00	Т	\$1,950.00
	Banquet Table, 8ft For Check-In	3	\$12.00	Т	\$36.00
	Banquet Table, 6ft	2	\$12.00	Т	\$24.00

Description		Qtty	Price		Total
	Spandex Linen, 6ft - Black	2	\$35.00	Т	\$70.00
	Chair	9	\$8.00	Т	\$72.00
	Banquet Table, 60" Rnd	10	\$12.00	Т	\$120.00
	Linen, 120" Rnd	10	\$27.50	Т	\$275.00
	Chair, For 60" Rnd	80	\$8.00	Т	\$640.00
	Ivory Market Umbrella 8 For Tables // 2 For lounge in front of drape.	12	\$27.50	Т	\$330.00
	Hedge Panel, 4'x8'	50	\$110.00	Т	\$5,500.00
	Pipe and Drape, 12' x 10'h - Black	1	\$100.00	Т	\$100.00
	Sofa	1	\$300.00	Т	\$300.00
	Coffee Table	1	\$55.00	Т	\$55.00
	Ottoman	4	\$35.00	Т	\$140.00
		Tota	Total Entrance/Check-In		\$10,797.00
Polo Room					
	Linen, 60" Rnd - Black ^{Friday}	25	\$27.50	Т	\$687.50
	Linen, 60" Rnd - Light Grey Saturday	25	\$27.50	Т	\$687.50
	Linen, 60" Rnd - White	25	\$27.50	Т	\$687.50
	Ava Sofa, Black - 8ft	3	\$300.00	Т	\$900.00
	Vida Coffee Table, Marble	3	\$55.00	Т	\$165.00
	Ava Lounge Chair, Black	6	\$125.00	Т	\$750.00
	Ivory Market Umbrella	5	\$27.50	Т	\$137.50
			Total Polo Ro	om	\$4,015.00
Equestrian Bal	Iroom				
	Spandex Linen, White	6	\$35.00	Т	\$210.00
	High Boy Cocktail Table Count / Color Pending	6	\$12.00	Т	\$72.00
		Total I	Equestrian Ballro	oom	\$282.00
Merch					
	Banquet Table, 8ft	2	\$12.00	Т	\$24.00
	Banquet Table, 6ft	1	\$12.00	Т	\$12.00

Description	Qtty	Price		Total
Spandex Linen, 8ft - Black	1	\$35.00	Т	\$35.00
Spandex Linen, 6ft - Black	1	\$35.00	Т	\$35.00
Umbrella, Black	3	\$27.50	Т	\$82.50
		Total Mo	erch	\$188.50
Services				
Trucking Fee	6	\$275.00		\$1,650.00
Install Fee	1	\$13,800.00		\$13,800.00
Strike Fee	1	\$13,450.00		\$13,450.00
1.5% WC Fee	1	\$1,763.01		\$1,763.01

Notes

Total Products:	\$80,945.00
Total Labor/Services/Misc:	\$30,663.01
Taxes :	\$7,689.78
Discounts:	(\$0.00)
Total:	\$119,297.79
Payments:	(\$0.00)
Balance:	\$119,297.79